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NS 7100m Bl HHHG) 13.68 | ik 255(5) 14.43|F )11 Fni%(s) 14.47 | RIgE 5235G5) 14.54|&is f£(5) 14.66 |/Mbk ELiifi(5) 14.78 |fEF: F3H(6) 14.87|fiH #EE(6) 14.89
JR:-2.3 MITOATH LT fTRAC KHAC WRLEA-T MITOATH KHEAC MITOATH
JINFBAE 5 7-100m IR Z2i%(6) 13.22| KA HEE®) 13.34| W0 76) 13.35| 1% ZEF(6) 13.71 |2 H544:6) 13.94| k4% #74iH6) 13.94|® M H#(6) 14.16|[M%F /2f9(6) 14.27
Ji:-1.2 FTRAC SRR 1 HritiRC HIAC O=H7hRC BT RAC FiTRLAC b
P EAREI6) 187243 | 240 M FR(6) 177383 | 17K fEERk%(6) 162453 KL EEEE6) 158248 [1EAS EA(6) 156483 ¥k #30(6) 150488 | AR EE(6) 1498 A1 FRE FLKHR(6) 120351
INFEBFAL AU RA VVRLEA-T HHERHAC HHEARHAC VVRLEA-T Az b ff JLAC HWEEKHAC faf JLAC
14.04(-0.6)-1m21 14.62(0.0)-1m21 15.49(-0.6)-1m21 14.66(0.0)-1m05 15.44(-0.6)-1m15 16.40(-0.6)-1m24 16.03(0.0)-1m18 16.88(0.0)-1m05
/N % (6) 167740 |BE)I i1=(6) 162783 | B KFHG) 159183 | KAk B (6) 156741 [ FER] KIE®) 154440 HL 75(6) 1527 43 i %7K (6) 1498 21 [R4s ##HL(6) 148941
INEB T AL RB MITOATH wHEKHAC [ERvA: N MITOATH HHERHAC AIE VVRLEA-T HHERHAC
4m11(+0.1)-34m10 4m15(+1.0)-31m10 3m16(+0.2)-42m97 4m22(+1.6)-27m17 3m76(+1.0)-32m40 3m52(+1.2)-34m83 3m64(+0.4)-31m78 3m83(+1.7)-28m72
JNES A F100m LA BHUG) 14.56 |k i 2.(5) 14.68| i {EAEG) 15.02 [nikA By375(5) 15.03|miff FEG) 15.05| &% EET(6) 15.15 [ M L G) 15.29 (M FEW5) 15.38
J#:-0.8 MITOATH B FLAC A AV Az | MITOATH FikAC Db ZehRC HIAC
NFEEHE L 7100m /MG 2£6) 13.83 | {2 E3E6) 14.21|) HH6) 14.47 [Z= 1L f546) 14.52|EA ZE76) 15.09|H T /NHE6) 15.09 [#2H FfFH6) 15.17| &l FEHG6) 15.24
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INFEL A S AU RA A 7k - GR,IBA | FEMRFE I- RN - $R B L A rke - HHERHAC E—A7r E—A7ir
13.64(-0.7)-1m33 14.13(-0.7)-1m33 14.51(+0.5)-1m21 14.91(-0.7)-1m24 14.62(+0.5)-1m15 15.09(-0.7)-1m10 15.11(+0.5)-1m05 16.06(+0.5)-1m10
A S<56) 1763 53| A #(6) 175881 |11 &<5(6) 162647 | RHE6) 162453 | )2 K HZEE) 15733 |ILIB% #i#EG) 1467 83 | AR WEsk(6) 138953 | FHF ZE1-(6) 138647
N A A KB VVRLEA-T IRt GR,IBA| K3t Az b E—A e VWL EA-T VVRLEA-T PRE
3m93(+2.8)-40m78 4m23(+1.5)-36m43 3m64(+0.5)-38m10 3m93(+0.9)-33m98 3m80(-0.3)-33m28 3m45(+1.0)-32m87 3m56(-2.1)-27m50 3m59(+1.4)-26m96
[T FLAC 56.58 | FifAC 56.95 [V VRLEA-T 57.34 |/ IHRC 58.94[ 0= B RC 59.06 | H 3z | 59.73 | —A>Zjr 1:00.12 | §R e F 1:00.92
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ISR 5 7-100m(B) VEiE TEAR(5) 14.60|F1e% #HkG6) 14.82 /IR B51(5) 14.89| Ak 12 KER() 14.90|F#F BEFHG) 15.29| EA fi14:(5) 15.33 | kA WA (5) 15.50 | HEF HAKG) 15.56
J&: 0.6 iU Az b B HRC MITOATIH NG b WWRLEA-T WMebZphRC Bar AC
I 4 5 -100m(B) il 72(6) 14.23|)11IéF #315(6) 14.57 | R IESE6) 14.66 |7 HEme6) 14.67 | 7K (6) 14.74| /N7 TK0(6) 14.88 |1} #555(6) 14.89
Ja: 1.1 FIEAC MITOATH FiAC E—A 7 iRt MITOATH [AAD
IS4 F-100m(B) Va1l HEREG) 14.93 ¥ 32K6) 15.10 [/ & EG) 15.22|E5F &46) 15.29 [JA Z59u(5) 15.50 | Bl 14 $E(5) 15.54 | Fglt] 2me(5) 15.55 |14itF JeAi6) 15.68
Jal:+1.0 Ark b FifiAC [T LAC Ark b fir AAC A HE N [ ;LAC WL EA-T
INFEBAE AL F100m(B) NI 232(6) 14.94| B H 1DREG6) 15.17| %55 H4K(6) 15.21|F)11 %E6) 15.26 | @R (Hik©) 15.27|@AFT K&E6) 15.27|gn Ak 3K(6) 15.42| 7 H OKL06) 15.43
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LB T 50m AT A 9.46(-L. 1|k (1) 9.87(-1.1)| RHE 1) 9.88(-1.1)[FH5 (1) 9.94(-L.1)| B E EFH(L) 9.97CLD|RHA #ik1) 10.28C-1.1)| & H FHEL) 10.28¢- 11KV HiE(1) 10.29(-1.1)
SRR I H K MAC MITOATH FAC R E e HFEN I 1) MITOATH
T 50m A0 IFREER) 8.11(+1.5)[ M L) 8.35(+1.5)| 14 fE—(2) 8.58(+1.5)[ 4t 2£(2) 8.73(+1.5)[/INig Fz /1(2) 8.82(+0.7)| AH HEFH(2) 8.82(+0.7) [0 BEK(@) 8.83(+1.5)[/IMfl #E(2) 8.91(+1.5)
X7 ZLAC SRR 1 BT RAC KT HibE AR FIEAC HriliRC F b L BTRAC
FU— ES IR A6)) 8.09(-0.9)| K- HH#H3) 8.13(-0.9)| K RIH®B) 8.28(-0.9)[HMH WE=}(3) 8.30(-0.9)[ Pk BHZE(3) 8.30(-0.9)| /11X 5 (@3) 8.34(-0.9) [ L HK®M) 8.50(-0.9)[ k4 fEFH(3) 8.57(-0.1)
BT FLAC MITOATH MITOATH A AV AA VR MITOATH HEEAHAC B LAC
INFEAAETF100m(A) HEE lEsR(4) 15.03| B A& @) 15.08|/M&E 154 15.17 | Fild] PFn(4) 15.65 | H3% FkH(4) 15.83 B3I sk H4) 15.86 | Fifi B (4) 16.00 | FJal A%A) 16.25
JR:-2.9 MITOATH il b MITOATH JEERE MITOATH Db 2B RC BEWERE F R b
JNEARE B F100m(B) W PAEG4) 15.95 [BI7y K5h(4) 16.17 [ rpiliy B2(4) 16.18 | #HI WiA(4) 16.24 | /MR 1=(4) 16.49 |25 HKE) 16.51|HIA HFN(4) 16.57 [SEM HEL(4) 16.60
Ji:-1.1 MITOATH TR ERE - AR ERE b B IHRC FENERE b il b FIEAC FIRAC
N5 B 71000m IRA Bik6) 3:20.19 [¥RIE 5 H1(5) 3:21.97| A KG) 3:30.89 | #AH M2 5(5) 3:31.05 5 Ki(5) 3:31.10{ ATk —7HG) 3:40.61 |/t HEUKER() 3:45.90 | i ARFUG) 3:47.59
VRLEA-T SR SRbE b PR ERE K i EARD i/ HRC MITOATH R EE
NEGEE B 71000m EEESEO) 3:10.71[/Vbk 2EK(6) 31173 [P KFH6) 3:25.16 il 1£(6) 3:25.97 R RE6) 3:28.97 8 L 3(6) 3:33.32 (&7 #1:6) 3:35.24 (F1M 453}(6) 3:41.25
ASZAC BiAC SR E rifRC BAC A E R b BRifEAC HHERMAC
U il (1) 9.57(+0.2)[ VZAE #if(1) 9.68(+0.2)| fin [l ZEE(1) 9.68C- 1. 72o®(1)  9.76(-0.2)|ILFF #ythF&Q1)  10.03¢0.2)| B FF S<B(1) 10.18(+1.4)| ik A<AE) 10.19(+0.2)| /K BE% J5(1)  10.83(+1.4)
) Bl S I BT RAC R PR BT RAC BRI PR E R L
A L 50m i fide) 9.03(-0.5) 4 KE(2) 9.17-0.8)[ A #E2) 9.27(-0.8)[J2iiF L2Th(2) 9.43(-0.5)| & L EHIQ) 9.48(-0.8)[ = E Hk(2) 9.51(-0.5)[ 5 #h(2) 9.51(-0.5)[ kLI Fi(@) 9.54(-0.5)
YY—_—/L/h HITAC SRHHME E HIAC B ERE - FEROBFEL /N fif RLAC R -
R HA EEEEG) 8.18(+0.5)[ )11 K@) 8.65(+0.5)| &AL AA®B) 8.70(+0.5) [EF  HIA(3) 8.81(+0.5)[/E HER() 8.84(+0.5)| i K JH(3) 8.92(+0.5)[AiTH JEHE3) 9.01(-0.9)[ H3E (=7@3) 9.10(+0.5)
MITOATH S.A. N K iRE EARD To Be AC #H/HRC FIRAC gk b HITAC
IINFAAEAF100m(A) L W) 15.41 Rk WeAR4) 15.56 [EA wWT-4) 15.56 [ <F4% FEHEMR(4) 15.63|fex K LFEA) 15.90 /MG 1 1-(4) 16.10 (k1 1HH®A) 16.12| N H4) 16.43
Ji:-0.9 SRR L HHEAHAC Al g b EREAE e - MITOATH S.A. N MITOATH SR fE
INEARESF100m(B) i & J5HR4) 16.43 | BEA FHik(4) 16.56 | (L #EE@4) 16.57 (g0 A () 16.68[1LIH EREEG4) 16.69|#H TTi&() 16.69 | fEH Fhi(4) 16.72| 2 H)I1 ZHi@4) 16.75
J&:-0.7 DImbE MITOATH fif JLAC EREARE e Sz b O7=b7ehRC MITOATH SRR
S A F1000m BH EREG) 3:21.85 | ZHIG) 3:32.41| HE HIFEG) 3:37.60|AiH % E(G) 3:39.87|HH EEG) 3:42.05| 1l b #54<(5) 3:53.07 |k AVIEG) 3:56.66 [fEI {8 H(G) 3:57.73
HYZAC EWRITT FIRAC SR 1 VIRLEA-T OH7ehRC MITOATH SR
N £ F1000m Kk KEO) 3:26.58 [HE4 (6) 3:33.30 |4 LX(6) 3:37.87| %] () 3:40.03 | @l LE56) 3:42.14 (K4 ERG) 3:52.15 5% H0E) 3:54.51 [Tl LyfE(6) 3:59.36
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